
 

Lecture 21

Warmups 1 Compute the value of sin tht x where
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2 If sink 2 3 and t lies in the third quadrant
then what is sinkt
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Fact Formulas for lowering powers
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Follow from the double angle formulas

Ex 8 Simplify the expression so there are no exponents
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Ex Simplify the expression tan 2x so there are no

exponents
fan 2x sin 2x I cos Ex
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Rinko other formulas 3 See Hw IBook
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cos ITIS 70

cos ITIS t

4



Section 7.4 7.58 Trig Equis

Ex8 Solve for all real values of that satisfy since l

to
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there are infinitely many solutions

Note X It is a Solh

It t 21T is a soln

X IT 12 t 4 IT
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So X I 2 t 21T n where n is an integer
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Note cos IN Plz X TH is a solar

Cos 7IT 14 cos fitly 52 2
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01

X 7 It 14 2 n
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strategy For trig x c their sinus c or cote c

1 Find all solns over a repeated interval of the

graph of the trig fan
2 Deduce via periodicity that all sots will be

the particular solus from plus integer
multiples of the period

Trig Fon Particular Interval Period Multiples
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Exoo Fmd all real soln to tan x 53

Start by finding all it 12 c x e Tiz St

tanCxl Tz RIT 13 is a star



21013 is a solar
T 3 is a Sohn

Graphically we see this is the only solar in
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Trig equi of quadratic type
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